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NO data races =
No accidentally-shared state.

All sharing is explicit!



NO data races =
No accidentally-shared state.

All sharing is explicit!

// Assume some value: &mut 132

xsome value = 5;
return xsome_value == 5; // ALWAYS true



By QuentinUK (Own work), via Wikimedia Commons
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let mut best = None;
let mut best price = INFINITY;
for store in stores {
let sum = store.total price(&shopping_list);
match sum {
Some(s) 1f s < best_price => { g
best = Some(store.name);
best _price = s;

=> { }
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use std::thread:

let mut handles = vec![];
for store in stores {
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thread: :spawn(move || {
let sum = store.total _price(shopping_ list);
(store.name, sum)
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handles.push(handle);
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use std::thread:

let shopping list = Arc::new(vec![..]);

let mut handles = vec![];

for store in stores {
let shopping_list = shopping_list.clone();
let handle =

thread: :spawn(move || {
let sum = store.total _price(shopping_list);

(store.name, sum)

F);
handles.push(handle);

h

// exercise (in a bit): join the handles!
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P oo REHELINED
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let (tx@, rx0) = channel();
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spawn(move || /* omitted */);
let tx2 = tx0.clone():
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fn sync_inc(counter: &Arc<Mutex<i32>>) {
let mut data = counter.lock().unwrap();
kdata += 1:

}
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Exercise: threads

hitp://rust-tutorials.com/exercises

Cheat sheet:

let (name, sum) = thread.join().unwrap();

use std::sync::mpsc::channel;
let (rx, tx) = channel();
tx.send(value).unwrap();

let value = rx.recv().unwrap();

use std::sync::{Arc, Mutex};
let mutex = Arc::new(Mutex::new(data)):
let data = mutex.lock().unwrap();

http://doc.rust-lang.org/std


http://rust-tutorials.com/exercises

Static checking for thread safety

fn send<T: Send>(&self, t: T)
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fn send<T: Send>(&self, t: T)

\

Only “sendable” types

Arc<Vec<int>>: Send
Rc<Vec<int>> : !Send









